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SECTION A (32 marks)

Answer ALL the questions in this section.

1. State four uses of financial ratios. (4 marks)
2 Highlight three demerits of using Pay-Back Period as a method of evaluating capital
investment projects. (3 marks)
3 Mr. Laban has invested Ksh. 120,000 in a fixed deposit account at the Millennium Bank. The
bank pays interest at the rate of 8% p.a., compounded quarterly. Calculate the amount which
shall be in his account after 4 years. (3 marks)
4. Outline three disadvantages of not having adequate stock in a business. (3 marks)
8, Highlight four disadvantages of the use of preference shares as a source of finance. :
(4 marks)
6. Penta Ventures Limited paid dividends at the rate of Ksh. 5.50 per share at the end of the last
financial year, The current market price per share is Ksh. 45. The company expects the future
earnings to grow by 6% p.a.
Calculate the firm’s cost of equity. ‘ (3 marks)
7. Outline the importance of business finance to an organisation. (2 marks)
8. Outline four services that may be rendered by a commercial bank to its customers. (4 marks)
2 Bamako Enterprises Limited utilizes 50,000 units of a certain raw material per year. The
ordering cost is Ksh. 15,000 per order. Each unit of the material costs Ksh. 160. The carrying
cost is 10% of the unit cast. Calculate the Economic Order Quantity (EOQ). (3 marks)
10. Banda Manufacturers Limited intends to invest Ksh. 400,000 in a project. The expected cash
inflows are as follows:
YEAR CASH IN FLOWS (Ksh.)
1 150,000
2 200,000
3 450,000
4 500,000
5 520,000
The cost of capital is 12% p.a. Calculate the Discounted Pay-Back period. (3 marks)
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11. (a)
(b)
12, (a)
(b)
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SECTION B (68 marks)
Answer ALL the questions in this section.

Magadi Enterprises Limited intends to raise additional finance from the following
sources:

. 100,000 ordinary shares of Ksh. 10 each at Ksh. 15;
» 100,000 10% preference shares of Ksh. 10 each at 12;
. Medium term Joan of Ksh. 5,000,000 at the interest rate of 20% p-a.

The company expects to pay an annual dividend to ordinary shareholders at the rate of
14%. The corporation tax rate is 30%.

Determine the:

(i) total amount the company will raise if the plan is realized;
(i)  weighted average cost of capital of the additional finance.
(9 marks)

Explain four functions of the Central Bank of Kenya as a banker to the government.
(8 marks)

Simba Limited is considering investing in a machine. The initial cash outlay required
will be Ksh. 1,500,00. The cash in flows expected from the machine are given below.

YEAR CASH IN FLOWS (Ksh.)
1 400,000
2 300,000
3 450,000
4 600,000
5 670,000

The cost of capital is 16% p.a.
(@) Determine the:

(D  payback period;
(II)  profitability index.

(i)  Using the result in (i) IT above, advice the company on whether the project
should be undertaken or not, giving reason(s) for your answer, (9 marks)

Qutline four disadvantages of having excess liquidity in an organisation.
(8 marks)
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13, (a

(b)
14. (a)

(b)
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Explain four limitations of using financial ratios in evaluating the performance of an
organisation, (8 marks)

Outline six differences between ordinary shares and preference shares, as sources of
finance. (9 marks)

William is planning to buy a motor vehicle in five years’ time. The motor vehicle is
expected to cost Ksh. 3,600,000. He deposited Ksh. 400,000, Ksh. 200,000,

Ksh. 450,000 and Ksh. 600,000 at the beginning of 1st, 2nd, 3rd and 4th years,
respectively. Calculate the amount he should deposit at the beginning of the fifth year to
enable him to buy the car, if the bank pays compound interest at the rate of 8% p-a.

(9 marks)

Using four points, explain the importance of the cost of capital in investment decisions.
(8 marks)
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